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.000.000 mV/m
0.000.000 mV/m
00.000.000 mV/m
mV/m = SR Wb = A=

BERER W5

10 nT

100 nT

1.000 nT
10.000 nT
100.000 nT
1.000.000 nT
10.000.000 nT
nT=1/723
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ERE 5

E&f7A=F:i

0.000,000,01 mW/cm?*
0.000,000,1 mW/cm?
0.000,001 mW/cm?
0.000,01 mW/cm?
0.000,1 mW/cm?
0.001 mW/cm?

0.01 mW/cm?

0.1 mW/cm®

1 mW/cm?

10 mW/cm®

100 mW/cm?

1,000 mW/cm?
10,000 mW/cm?
mW/cm=31)7yhn'—F Fem
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0.000,01 ¢ W/cm?
0.000,1 uW/cm?
0.001 ¢ W/cm?
0.01 uW/cm?

0.1 £W/cm?

1 yW/em?

10 yW/em?

100 4 W/cm?

1,000 4 W/cm?
10,000 y W/cm?
100,000 ¢ W/cm?
1,000,000 ¢ W/cm?
10,000,000 y W/cm?
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BEFr—b

0.1 uW/m?

1 uW/m

10 4 W/m?

100 4 W/m*

1000 yW/m*

10,000 4 W/m*
100,000 ¢ W/m?
1,000,000 ¢ W/m?
10,000,000 ¢ W/m’
100,000,000 ¢ W/m*
1,000,000,000 ¢ W/m*

mV/m & V/m & kV/m [{EEIR BFR (15) Bi]

0.000.001 kV/m
0.000.01 kV/m
0.000.1 kV/m
0.001 kV/m
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nTe pTe mT HERER MR (15) Bl

0.000.001 mT
0.000.01 mT
0.000.1 mT
0.001 mT
0.01 mT

0.1 mT

1mT

10 mT

mT=3727
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0.000.01 G
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mW/cm?& 1t W/ em*SW/memV/meV,/m

(BRIREHE BhBERM)

6.14 mV/m
19.4mV/m
61.4 mV/m
194mV/m

614 mV/m
1,940 mV/m
6,140 mV/m
19,400 mV/m
61,400 mV/m
194,000 mV/m
614,000 mV/m

10,000,000,000 4 W/m* 1,940,000 mV/m
100,000,000,000 ¢ W/m'’ 6,140,000 mV/m

2 W/m=4907y bV —F Fm

mV/m=3# Wb —2=pb

0.000,061,4 V/m

0.000,194 V/m

0.000,614 V/m

0.001,94 V/m

0.006,14 V/m

0.019,4 V/m

0.061,4 V/m

0.194 V/m

0.614 V/m

1.94 V/m

6.14 V/m

19,4 V/m

61,4 V/m
V/m= Wb —A=hlb
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